ZY)3H (osculating plane)

% x-a=pRiEEhst =8 P (u1), 0 (us) , R (us) HIPH

% £ (u)=x-a—pHI £ (u1) =£ (uz) =£ (us) =0

H Rolle ¥, 71E vi, vz, Uy SV, SU, SV, <Uy, (S (v) = F'(v,) =0
AL, 174 va, v, SV, <V, , (575 £(v,) =0, # 0, R—>P, I

f(uy=x-a—p=0 (then (x(u)—x(u,))-a=0

f'(uy=x-a=0
f'(uy=X-a=0

FTLABEETSFEETE | (x(U) — X(Up)) " X(Up) ™ X(U)| = 0

X =12
B3Ry =t—t>1£ (1, 0, 2) YV FHE
z=2t

X=(2t,1-2t,2)
X=(2,-2,0)
xQ)=(2,-1,2)

x-1 'y z-2
2 -1 2 |=0
2 -2 0

— %R C HIFTAEE DAL A RS - Al
BLHf e —FrAhaR

Xo=X+AT +uN H]
0=T+A'T+A(xkN)+ u'N+ u(—«T +7B)
QA+ A=) T +(Ac+ " )N+urB=0

1+ A'—ux =0
Ax+u'=0 HAlz=0 FrLLE— FHHhLR -
ur=0



